2 cMeHa (Ha4aJio B 13.40.00)

aHTIL.5137 pyc.s38 AHTJL 532
= aHry.s37 D-pa pyc.s38 pyc.s32
E HH TeXH aHTIJ1.5138 pyc.s132
% D-pa TEXH MaTem§ MaTem2
Z TeXH reorp? ®-pa nurep
= TEXH anre67 TuTEep8 D-pa

reorp? Uo7
reom?7 pyc.s133 aHII. 5138 pyc.s32
anre67 pyc.s33 MaTem8 pyc.s132
pyc.a37 HCTOp3 pyc.s38 aHTJI1.5132
pyc.a37 MY3bIKa3 pyc.sa38 Marem2
ucrop7 anre63 HCTOp8 My3BIKa2
o017 reom3 My3bIKa8 Hcrop2
MY3bIKa7 06113
P.pyc P. pyc n30 D-pa
N30 JHTEp JHTEP 001
JHTEp TUTEp JTHTEp reorp
THTEp ®-pa reorp H30
®-pa ['eorp Woiil MTep
Ieorp n30 ®-pa JHTEp
¢uznka3 MareMm8 buon2
HeM. 5137 aHr3 6108 ¢b-pa
¢b-pa HeM. 133 TE€XH marem2
reom?7 buon3 TEXH HEM. 5132
reom3 b-pa TeXH
®-pa HeM. 5138 TEeXH

aHTT1.5136 pyc.sa35 pyc.s38 aHIJI.5132
HCTOP6 pyc.sa35 pyc.s38 pyc.s32

pyc.s36 JTepS MaTemy pyc.si32
pyc.s136 HCTOpS aHIJL 5138 JHTEp2
anre66 anre6s ucrop7 Marem2

uTep6 aHIJ.5135 JIuTeps HCTOp2




